1Y A"
A Por f D 0-00~ 09 .7/
y 3
FS BZ= 7o~ R JGo-e0- 17 7 G t=7 =70~
5 0 285)- Y225 i 1767
9 7
R 20-N219 |
~7 R5)- YooY
A por} D 005 YO g /
T1Io
)4 Zo0-05- 43
T3 : 7
2 D 3Y/-924.3 s
Voo
R l6/~Y32-%8 ;
7 25/- Y420y
Fry  125)-Y2-0Y %
DiSt 4o | A Pert = Y4Y134.51
Dist po % = |YYyo4.4s
I,
T @ 23
1Y /i D -00- 10 1 i
19°0
e Lol S2-00~ |7
148" | D i 1 207 200 IO
R k135704
& A3-.54-Yels 7
' Y
- / /
1Y :A D 05 -37 43 3
L R Jo-05- 47 J\V
148 D 189-02-25 P e
4 Y-03-35 m)/b
~ 93-5¢- 45| =
o AB-56-44:35 7 X
19. & D 0~00-09 Yyl s
7‘]‘
g R Jge-c0-)9 .
154
Frw 2 a7
T qe
I BB L b b2
; ~1__ 1ga-~19-32]"
b
118 D |9-05-38 b
4 Rlo-05- Y A
\




